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( 3) Calculate the volume of each rectangular prism. Include the units in your number sentences.
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4. Tyronis constructing a box in the shape of a rectangular prism to store his baseball cards. It has a length
of 10 centimeters, a width of 7 centimeters, and a height of 8 centimeters. What is the volume of the

box?
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5. Aaron says more information is needed to find the volume of the prisms. Explain why Aaron is mistaken,
and calculate the volume of the prisms.
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Area = 20in2

Use multiplication to calculate volume.
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